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Name: __________________________________



1
What is the domain of the relation shown below?

[image: image1.png]



	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]{-2,-1,0,1,2,4}





	4)
	[image: image5.png]{-2,-1,0,0,1,1,1,2,4,4}







2
Let f  be a function such that [image: image6.png]


 is defined on the domain [image: image7.png]


.  The range of this function is

	1)
	[image: image8.png]




	2)
	[image: image9.png]=y <co





	3)
	[image: image10.png]




	4)
	[image: image11.png]—0 <y <O







3
If the function [image: image12.png]


 has the domain [image: image13.png]{0,1,4,9}



, what is its range?

	1)
	[image: image14.png]{0,1,2,3}





	2)
	[image: image15.png]{0,1,16,81}





	3)
	[image: image16.png]{0,-1,1,-2,2,-3,3}





	4)
	[image: image17.png]{0,-1,1,-16,16,-81,81}







4
If the domain of the function [image: image18.png]


 is [image: image19.png]


, then the range is

	1)
	[image: image20.png]{-16,4,92}





	2)
	[image: image21.png]{-16,10,42}





	3)
	[image: image22.png]{0,10,42}





	4)
	[image: image23.png]{0,4,92}







5
The function [image: image24.png]Ax) = 2x° + 6x— 12



 has a domain consisting of the integers from [image: image25.png]


 to 1, inclusive.  Which set represents the corresponding range values for [image: image26.png]


?

	1)
	[image: image27.png]




	2)
	[image: image28.png]{-16,-12,-4}





	3)
	[image: image29.png]




	4)
	[image: image30.png]






6
If [image: image31.png]1
)= 3549



, which statement is always true?

	1)
	[image: image32.png]




	2)
	[image: image33.png]




	3)
	If [image: image34.png]x <0



, then [image: image35.png]




	4)
	If [image: image36.png]x>0



, then [image: image37.png]






7
The range of the function [image: image38.png]Ax)=|x+3|-5



 is

	1)
	[image: image39.png]




	2)
	[image: image40.png]




	3)
	[image: image41.png]




	4)
	[image: image42.png]






8
If [image: image43.png]Ax)=x'+2



, which interval describes the range of this function?

	1)
	[image: image44.png]




	2)
	[image: image45.png]




	3)
	[image: image46.png]




	4)
	[image: image47.png]






9
What is the range of the function [image: image48.png]


?

	1)
	[image: image49.png]




	2)
	[image: image50.png]




	3)
	[image: image51.png]




	4)
	[image: image52.png]






10
The domain of the function [image: image53.png]Ax)=x+x-12



 is 

	1)
	[image: image54.png]




	2)
	[image: image55.png]




	3)
	[image: image56.png]




	4)
	[image: image57.png]






11
The range of [image: image58.png]Ax)=x+2x-5



 is the set of all real numbers

	1)
	less than or equal to [image: image59.png]




	2)
	greater than or equal to [image: image60.png]




	3)
	less than or equal to [image: image61.png]




	4)
	greater than or equal to [image: image62.png]






12
The range of the function [image: image63.png]Ax)=x+2x-38



 is all real numbers

	1)
	less than or equal to [image: image64.png]




	2)
	greater than or equal to [image: image65.png]




	3)
	less than or equal to [image: image66.png]




	4)
	greater than or equal to [image: image67.png]






13
Which interval represents the range of the function [image: image68.png]h(x) = 2x° - 2x- 4



?

	1)
	[image: image69.png]




	2)
	[image: image70.png]




	3)
	[image: image71.png]




	4)
	[image: image72.png][-4.5,co)







14
The range of the function defined as [image: image73.png]


 is

	1)
	[image: image74.png]y <0





	2)
	[image: image75.png]y =0





	3)
	[image: image76.png]




	4)
	[image: image77.png]






15
Which function has a domain of all real numbers and a range greater than or equal to three?

	1)
	[image: image78.png]




	2)
	[image: image79.png]o(x)=x"+3





	3)
	[image: image80.png]




	4)
	[image: image81.png]m(x) = |x+ 3|







16
Bryan said that the piecewise function graphed below has a domain of all real numbers.

[image: image82.png]> X






State two reasons why Bryan is incorrect.


1
ANS:
1
REF:
081710ai

2
ANS:
1

[image: image83.png]A2)=10
6) =8




REF:
081411ai

3
ANS:
2
REF:
081806ai

4
ANS:
3

[image: image84.png]


, [image: image85.png]f3)=10



, [image: image86.png]



REF:
011812ai

5
ANS:
2

[image: image87.png]


, [image: image88.png]


, [image: image89.png]



REF:
011914ai

6
ANS:
4

[image: image90.png]


 of a positive number [image: image91.png]


 is a positive number.
REF:
061417ai

7
ANS:
1
REF:
012018ai

8
ANS:
3
REF:
061816ai

9
ANS:
4

Vertex [image: image92.png]



REF:
012424ai

10
ANS:
2
REF:
062320ai

11
ANS:
2

[image: image93.png]


;  [image: image94.png]A-D =D+ 2-1)-5=




REF:
082316ai

12
ANS:
2

[image: image95.png]Ax)=x'+2x-8=x 4 2x+1-

(x+ 1) -





REF:
061611ai

13
ANS:
4

[image: image96.png]


  [image: image97.png]R(0.5) = —4.5




REF:
081923ai

14
ANS:
2
REF:
011619ai

15
ANS:
2

All four functions have a real domain.  f has a real range.  h has a positive real range.  m has a nonnegative real range.
REF:
062424ai

16
ANS:


The function is not defined at [image: image98.png]


 or [image: image99.png]


.
REF:
082327ai
